Lingen umwandeln

1 km =
2 km =
3 km =
b km =
5 km =

3 3 3 3 3

Tm = dm
2m = dm
3m = dm
b m = dm
Bm = dm

k' m 6 dm =
7m3dm =
5m2dm =
Im 2 dm =

6 km =
7 km =
8 km =
9 km =
10 km =

3 3 3 3

6m = dm
fm = dm
& m = dm
Om = dm
10 m = dm
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Lingen umwandeln

Tm =
2m =
3m =
b m =
5m =

Tm 2
2m3
3m 2
b m 1
5m3

5 m 9
8 m
b m 7

6 m

7 m

8 m

10 m =

6m 2 dm
7 m 8 dm
8 m 7 dm
9 m b4 dm
S m 2 dm

cm
cm
cm
cm
cm
dm = cm
dm = cm
dm = cm
dm = cm
dm = cm
Tm 3dm 2 cm =
b m 7 dm 9 cm
Em2dm 7 cm
9m 3dm 7 cm
4 m 6 dm 9 cm
cm =
cm =
cm =
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Lingen umwandeln

Tm = mm
2m = mm
3m = mm
b m = mm
5m = mm
2 dm = mm
3 dm = mm
2 dm = mm,
1dm = mm
3dm = mm,
3dm 2 cm = mm
7dm 9 cm = mm
2dm 7 cm = mm
3dm #cm = mm
6 dm 9 cm = mm
5dm 9 em 3 mm =
3dm 2cm Tmm =
7dm 3 cm 2 mm =
9dm 2 cm 5 mm =
2dmn5cecm 3 mm =
6dmn 3 cm 9 mm =

www.fraumohrsrasselbande.at

Tm = 1000 mm
1dm = 100 mm

Tem =10 mm
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mm
fm = mm
& m = mm
O m = mm
0V m = mm
2 dm = mm
8 dm = mm
7 dm = mm
4 dm = mm
2 dm = mm
5dm 1Tcm = mm
9dm 2 cm = mm
3dm 8 cm = mm
7dm 9 cm = mm
Tdm 2 cm = mm
mm

mm

mm

mm

mm
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Lingen umwandeln

1000 m = km 3f7Zdm=_ m _ dm
3000 m = km 8dm=_ m _ dm
5000 m = km 102 dm = m dm
56 cm=_ m ___dm __ cm
6/F8cm=__ m ___dm __ cm

35 ecm=_ m __ dm _ em |@obreensnEs
Nem=__ m ___dm __ cm

24 mm=__m ___dm ___cm __ mm

4589 mm = m dm  cm _ mm

2529 mm = m dm __cm _ mm

8923 mm = m dm cm mm

Zerlege in die einzelnen Mape!

547 cm =
3489 m =
3457 mm =
347 mm =
2356 mm =
23407 cm =
6796 mm =
357 cm =
456 mm =

www.fraumohrsrasselbande.at www.getschoolcraft.com



